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Who received the Nobel Peace Prize in 2014 In ndia 7
(A) Nadia Murad (B) AmartyaSen  {{C) Kailash Satyarthi (D) Mother Teresa
9w ST TR e s TR T SR g arelt s 3 geet H a3
(A) e oiae wiaRee fafies (B¥ iy e wiferemwr fafiies (GAIL)
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Which company has become the first company in India to trade domestic gas on Indian Gas
Exchange ?
(A) Indian Oil Corporation Limited (B) Gas Authority of India Limited (GAIL)
(C) Bharat Petroleum (D) =Oiland Natural Gas Corporation Ltd.
o 7 =t yoom iy feoe & &9 ° 9960 STare?
(A) <€ =1 Jeal fe (B) iHTH w1 THU EER
(C) ¥ 1 Ygal HIeTaR (D) ~=Had =1 ey IfEr
Which day is observed as No Smoking Day 7=
(A) First Day of May (B) =Second Wednesday of March
(C) First Tuesday of March (D) ;'Third Saturday of January
TeRfeR SUE (A SR EEW) I F ¥
“A) STEITT (B) U= () wMuE (D) =t
Galilean satellites (or the four moons) belong to which Planet ?
(A) Uranus (B) Neptune (C) Saturn (D) Jupiter
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 What does “verified account” signify on social medta platforms like Twitter and Instagram ?

~ (A) Theaccountisfrequentlyused =i
(B) The account belongs to a public figure or. orgamzation and is authenticated
(C) The account has a high number of followars ‘
(D) The account is used for ﬁdvartigmg i
et favg 2w =t gm %7 - S
(A) ISl (B) wfwm (D) e
Real is the currency of which L‘_Ountry ?

; (A) Canada :

(C) Afghanistan (D) Bhutan
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What is the Pradhan Mantri Fasal Bima Yojana (PMFBY) ?
; le production in the agriculture sector:

A) - Supports sustainab _
EB; Suggons and promotes organic farming practices and provides Subsidies to fa mers for

adoption of sustainable agricultural methods. ] e
PMFBY improves rural infrastructure and provides employment opportunities 1o Mk
agricultural communities.

(D) It regulates agricultural mar

(C)
kets and ensures fair prices for farmers’ produyce.
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The full form of WPl is :
(A) Wholesale Price Index
(C) Wall Price Index
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(A) SR ST THTER &l AT FA &

(B) Sf Wit STl SHeRl & SIG8R I S99 Fd o
AC) A S A o SATER 1 ST i ¢

(D) e S e Uil 1 ST FAE
Who are ethologists ? i

(A) Scientists who study ethos
(B) Scientists who study the behaviour of wild animals

(C) Scientists who study the behaviour of humans
(D) Scientists who study only plants

e frefafea 8 | fora 0 8w ofas a8 2

(B).:L;:'---Whole Price Index
(D) - Whole Print Index

(A) TBRE (B) USIM -~ (C) TeE (D) 7 FHeH
Ellora is a sacred site in which of the following state ?

(A) Maharashtra  (B) Rajasthan - (C) Gujarat (D) Karnataka
s H fa 39 g §2

How many countries are present in Africa ? . _

(A) 52 - (B) 56 - (C) %0 . (D) _ 54

1042 T WA B2 EAEH F T R B TTGYT FH A2

(A) @IS ferfaemm (B), TS qaw

(C)« TS A - (D) e ¥

Who was the Viceroy of India at the time of the Quit India Movement i D)
(A) Lord Linlithgow (B) Lord Wavel| It iRaz |
(C) Lord Mountbatten (D) Lord Irwin
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Which of the foll was the first to g . .
seuiﬁég owing countrios + 10 achlove gontrollod nucloar fusion In a laboratory

(A)  United States of America (B) *Unlted Kingdom
(C) Soviet Union (D) “Ftance
51, W QA ¥ ST Y oiR wed a1 ““M‘FWI Ayt wéver il w6 Sy
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The economically secure white people migrated from urban areas to suburbs is called :
| (A)  White flight (B) Blackflight “(C) Migration (D)  Immigration
52, e o sifufrm, 1956 fir AR AR EEE 2
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National Highways Act, 1956 is applied to which tax policy ?
(A) Tolltax (B) Service tax (C) Professional tax (D) Entry tax
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What is the ‘Operation Green Hunt' in India ? i~
(A) Anti-piracy operation (B) ..Counter-insurgency operation in Kashmir

(C) Anti-Naxalite operation (D) - Anti-drug trafficking operation
54, St sidEr i a= & et whfE €2

Which international treaty focuses on the rights ‘of children ?
(A) ICCPR (B) ¢ ICERD (C) CRC (D) CEDAW
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~ SAARC stands for : .
oA South American Association for Regional -__G_EJODGTathﬂ
~ (B) South Asian Association for Regional Gdjgepration
{C)  South African Association for Regional ggggeration
(D) SoutheastAsian Association for Heglonéj___ggoperation
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Which is the largest museum in India ?

(A)  Indian Museum, Kolkata

(B) National Museum, New Delhi
(C)  Chhatrapati Shivaji Maharaj Vastu Sangrahajaya, Mumbal

(D)  Salar Jung Museum, Hyderabad
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Which country is known for its extensive use of geothermaf energy due to its unique volcgp;
landscape ? '

(A)  Norway (B) Iceland (C) Australia (D) Brazil
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(A)” ST (B) YA (C) o @eaER (D) fEzmTs

Which country became the first to make use of Bitcoin as a legal tender in 2021 ?

(A) Venezuela (B) Japan ~ (C) ElSalvador (D) Switzerland
yfas g ‘g fed aﬁtﬁaﬁ@a’mﬁ gR1 foet 78 &2

(A)  ofgg T B) ‘feeifie@  © (c) www.wm (D) @A T
Famous book ‘The Return of the Native’ is written by whom ?

(A) Thomas Hardy (B) Bill Gates ~(C) MM.Kaya (D) Lioy Douglas
9Rd H U g7 feay fg HeEiA W A s g 2 -

(A) < S (B) faaw=r __(C) e (D) feH=R

National Milk Day is observed in India, in which month ?

(A) June (B) September (C) November (D) December

DDoS &I T HIH gl
(A) Tefigspee feqma 31w fd (B) fefgsaes 2= ifw wiiy
(C) —=riaR feama ofw afdq (D) feee fema sifw wfdg

Full formof DDoSis o
(B) Distributed Data of Service

(A) Distributed Denial of Service _ _
(C) Direct Denial of Service (D).~ Detailed Denial of Service

BT &1 8, Ty faem =1 iafer sFauor & %Q20£4 S T, Stk fearé Sfirer qoenR firen ?
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Recently, which mission received the 2024'-1@11-'-- Jack SWlQert;Jr. Award for space exploration ?
(A) Chandrayaan-2Mission (B); ,Ghandrayaan-3 Missjon
(C) Mars Orbiter Mission (D) ~ Gaganyaan Mission
e SR H1 AEYiAE o 1 faat “[E@.ﬂﬁ Hﬂ:@ﬁmw%?
The Universal Declaration of Human Rights is transtated into how many janguages ?
| (G450 (D) 500

(A) 300 (B) - 200
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- (D) Limits diplomatic engagement
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ad 2021 H W % ofa & Al 2000 5000 novec
- S Circulated at the end of March in the year 2021 ?

What is the value (in INR trillion) ©

(A) 6.00 (B)< 4.90 )-1.90 (D) 2.00
forcitr a1 AfTT ot =) el FUZ S w71 25 hered AR T vy
(A)¢ 7-8 @ (B) 4-57M4 (C)" -2z (D) 10-11 =

The financial or the banking syste™ will receive an additional boost in terms of C f
base money each year., = e . Croreo

(A) 7-8lakh (B) 4-5lakh (C)_1-21akn (D) 1011 lakn
ﬁmﬁwﬂﬁammaﬂ??ﬁmm%l '
A) A Efem () fERT (C) 7 T fegzfen (D) FHefrfym
_involves changing data prior or during'input into a computer.
(A) E-mail bombing (B) Smishing (C) Datadiddling (D) Catfishing
stefore 1 T Y ITC 31 0l &9 7N &2 |

(A) Tewd ég HE (3tiafie AR )
(B) w\m o (7R B Aey)
(C) ¥Ye T shfee
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In terms of economy, what is the full form of ITC-2-—
(A) Internal Trade Commerce i
(B) Internal Tax Commerce gy
(C) Input Tax Credit LF
(D) International Tax Company '
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(A) < faeme arETs (B) Fiftaer streamit

(C) <uel Hea (D) fehAear

Who directed the critically acclaimed Netflix OTT-series - Delhi Crime ?
(A) Vishal Bharadwaj (B) NikhilAdvani

(C) HansalMehta (D) Richie Mehta

ASEAN (anfqar) & Heie # ura =t ‘wae S’ <Aifd &1 41 W © 2
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(C) AR & 3Tl FH FT &

(D) g FeuIfa 1w et §
In relation to ASEAN, what is the importance of | dia’s Act East policy ?
(A) Promotes isolationist policie | St o
(B) Enhances economic, strate
(C) Reduces trade opportuniti

|

utheast Asian countries

Sl i ) W e T 2

(A) wurFst e
Who has the power to dissolve Lok Sabha ? =
(A)  Prime Minister s ) President
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(D) el i & 2 3 T WEHRH S gy s @il & A A A7
tis the main purpose of India’s Look East policy 7 o,
?z?a Esstrlesgthenigg economic and strategic tigs with Southeast Asia 80,
(B) Promote agricultural devﬁopfqtﬁgnéwuhin India. | trles
e relations and trade with European Union co . _ .

Eg; gﬂ?:ce cultural exchanges and People-to-people contacts with countries in East Asia.
73. et it qgta g e ? p

(A) =@ (B) L@k ; (C) (D)7 fifira

The national currency of Sri Lanka is : 5 -

(A) Rupee (B) Euro (C) Kyat (D) Ringgit g1.
74. mméwﬁqmwﬁqﬁaﬁqmw Wqﬁqﬂqmmﬁaﬁiﬁﬁaw‘m T we=r s 27

(A Ffagd (B)” we (C) e (D) =@

Which traditional dance form originating from Uttar Pradesh is recognized for its dramatic storytelling
and intricate footwork ? 82.
(A)  Kuchipudi (B) Bharatnatyam - (C) Kathak (D) Chhau

75, Treifefa & i wer il W i dem mid st (MGNREGA) i e fordmar £ 7
(A) &S ISR SqeTd AT
(B) wfd=ad 100 f& & da I =t i
(C) Tsit &1 | IR =1 Twrerwr
(D) 7 et FU AfHDBI BT LT HEAT o
Which of the following is a feature of the Mahatma Gandhi National Rural Employment Guarantee Act ;
(MGNREGA) ?
(A)  Providing urban employment
(B) Guaranteeing 100 days of wage employment per year
(C) Offering employment in the private sector 84.
(D) Targeting only skilled labor

76. @ﬁfmﬂﬁm%ﬁ%ﬁ%ﬁ&@aﬁ%msesom%ﬁq\anﬁrm%?

The compound interest on a certain sum of money for 2 years at 5% is Rs. 3280. Then the sum s :

(A) Rs. 30000 (B) Rs. 36000 (C) Rs. 32000 (D)/ Rs. 34000

77. 50% SR 40% % v 2 et wher g2 & TR E
Successive discounts of 509 and 40% equal a single discoynt of : 85,
(A) 60% (B) 20% - (©) 70% (D) ~48%

78. A foeft g W g 3 409, e ifed ¢ 1 Al g % AT T R xo% e S & 1 12%
maﬁnmﬂm'@m%:mﬂﬁwﬂéﬂﬂm‘i@awom%ﬁ”ﬁ?x%wwaﬁﬁ% ?ﬁsﬁws‘a?ﬁ
1 fosha 9o = gy 9fgu ? i
An article is marked 40% above the cost price. If a discount of yo; i
. . - X% '
article, then a final profit of 12% is obtained. Now if C.P, of e on the marked e

desired then what shoulq pe the selling price of that new ar?ié::\g article is Rs. 2,400 and x% proftis
B G0 200 T S B e 2480, (0) Rsioinact
e e
MYZ-24 10

86.

(D) Rs. 3,480




aﬁqmﬁﬁammarﬁgqaﬁfﬂﬂmaﬂaz m’ﬁm‘mqtﬂaﬁmaﬁéwnmmﬁqaw
The ratio of quantities of sugar in which sugar costing Rs. 40/kg and Rs. 30/Kg. In wh, i
sugar should be mixed so that there 15 N0 98I O losg When the gnixlure ;; sold agt Hnswggftkggo o

A 2:1 B) 81 {C) 4y (D) 1:4
qﬁsmﬁaﬂaﬁmw{mm%ﬂgﬁfﬂﬂaﬁ“ﬁ‘mSBﬁHm%,aﬁtz?ﬁrﬁ?ﬁrﬁﬂ’fﬁ‘mssﬁﬁm‘%?f'f

it BTEY @ Sftha R R .

(A) 64 fem (B)__52.5 fhll - (C) 55 fagn (D) 51.6 fFm

If the average weight of 6 students is 50 kg; that of 2 gy, ' - i

thon the everage welgh o - HIRERIETE dents is 53 kg; and that of 2 students is 55 kg:
(A) 64kg (B) 525kg (C) 5B5kg (D) 51.6kg

30 Temell F1 oied 1.2 ¥ | 3 @ Teat 20 T3 1.1 % aii sm1et 9 o 2iva 1 3, 41 wiferm e 27

The average of 30 numbers is 1.2. The average of the first 20 of them is 1.1 and that of the next 9is 1.

Then the last number is : :
- (A) 46 (B) 4.9 (C) 4 (D) 5

TF 3 79.2 fE/d 9 Ry D 99 W § 98 7 Ve § w @Y B R A 2, T H o 7w

SHITSIT | _ ;
(A) 11874 (B). 126 H . (C) 154 (D) 150 i

A train is running with a speed of 79.2 km/hr and it crosses a pole in 7 sec. Then find the length of the
train. : Bt

(A) 118 m (B) 126m. “(C) 154m (D) 150 m

aﬁ'mﬁa@mm@ggo 31 1330 1 fywifera 8 T HA: 6 3K 10 JHT TG T E -

The greatest number which divides 990 and 1330, leaves remainder 6 and 10 respectively is :
(A) 24 (B) 35 - (C) 15 (D) 20
o~ j

% 2TEHt 3 80,000 T H TH HISl aﬂt@n@@ﬂﬁlmaﬁ%aﬁm%%mmﬁm@aﬁmﬁ

=1 T A feaT | S ST R AR W 1% 1 @ Bl 8, A1 SIS <hT AT T 4 oft ?
Rs. 80,000. He sold the horse at a gain of 10% and the

A man bought a horse and a carriage for _ _ /
carriage at a loss of 5%. He gained 1% on his whole transaction. What is the cost price of the
horse ?

(A) 30,000 (B) 32,090 (C) 18,000 (D) 20,000
Samir’a?mf’awW3:4:6%,Emﬁquﬂm$ﬁﬁwﬁamwmmw%?

The ratio of speed of 3 cars are 3;4:6, What is the ratio of time taken by these cars to cover the same
distance ? i ke '

(A) 3:4:6 (B) 6:4:3 “(C) 4:3:2
s fasha ged &1 7% %9 J¢4 % 8% ¥ e i afe e e W 9% o VT Tl 2 T/ 10%

1 5 e SR Tk e I e | ; ind C.P. and
It 7% of S.P. is equal to 8% of C.P. and if 9% of S,P. is Rs: 2 more than 10% of C.P, then find C.P.

(D) 2:3:5
&IDED

(D) 800, 950

S.P
(A) 350, 700 (B) 350, 400 (c) 700,800
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T et 3 g gyg-wal F T | e yyg_qy & ferg A0 6 THHA 1 37 Y033 # gy
T 5:6:7:8:9:10 3 I H € | T irermae w3 60% A% I 170 T TR T30 4 ey 95-
3T F 60% @ w4 3iF W@ fFL?

A student appeared in 6 papers. The maximum marks are the SaTe for each Paper. His marks in this
paper are in the proportion of 5:6:7:8:9:10.-Overall he scored 80%- 1N 0w many papers he received
less than 60% marks ? o

(A 2 B) 3 =F(C) 4 () 5

e T Srea g i I 66 TR/ St enit g 4 T 79 F1 M 55 f/ 8, 0 2w w,
Excluding stoppage, the speed of bus is 66 km/hr and including stoppage it is 55 km/hr. How many
minutes does the bus stop per min ? — .

(A) 15 (B) 19 - =) 20 - (D) 10 96.
300 Tget T o e, 500 TGS F F Goq F FgeaR e, 91 A A A Hwa T Hied |

S.P. of 300 articles is equal to C.P. of 500 articles. Find the loss or profit percentage.

(A) 25(2/3)% s(B) 72(2/3)% (C) 66(2/3)% (D) 24(2/3)%

12,000 T93 R 9 WA F Ferw 20% W 94 7 X F wrgls AN, THIIG A FHIEF € -

The compound interest on Rs. 12,000 for 9 months at 20% per annum, interest being compound 3
quarterly is : : :

(A) Rs.1891.50 (B) Rs.2089.70  (C) Rs.2136 (D) Rs. 1750

TF TR =EEE H, A $9 99 % 1/6 F T 45t %51 1/6 9 FOM w1 €, B FE 99 % 1/4 % Ty
Gt =51 1/4 1 FrEw % & 3R C 99 g QUama % fow e 3 §, @ 1940 799 & @ H B = fe=
o g2 '

In a partnership business, A invests 1/6 of the capital for 1/6 of the total time, B invests 1/4% of the
capital for 1/4 of the total time and C, the rest of the capital for the whole time. Find the share of B, out

of a profit of Rs. 1940.
(A) Rs. 200 (B) Rs.120 (C) Rs. 160 (D) Rs. 180

0.7, 0.35,1.05 &1 9.9.9.(HCF) F1d Shifsid |

Find the HCF of 0.7, 0.35,1.05. _

(A) 0.07 (B) 0.7 (C) 035 (D) 1.005
A e w1 63 Rl S § 9B, A # GO 40% s e & 4 o w1 S BT
fom e i st den s §2

(A) 40 f= B) e0fen = (C)r45Ta (D) 49 =

Acan do a piece of work in 63 days and B is 40% more efficient than A. Then the number of days taken
by B to do the same work is : :

(A) 40 days (B) 60days () 45days (D) 49days

39 =Af WRfeA 10 He wm wek 12 fi T.0F T T T T ¥, 9 30 st ghife 6 2
sF IR R EFARE AR

(A) 20T BL 26fm - (C) 14T 0) 15 fe

39 persons can repair a tunnel in 12 days working 10 hours aday. In how many days will 30 persors
working 6 hours a day complete the work ?
(A) 20 days (B) 26 days (C) 14days (D) 15days




g5. S STFRI H wewr S Yarf =) g A ¢

96.

a7.

98.

99.

100.

Identify the figure that completes the pattern:

i Y
ViR

(X)

.5-_‘-." & ;
BB ol @ oW
LN
frfeiad wet , Sty fag o viedah W SR ST ¥ fo w3 | o7 9 e v 01 o0 T v % et
T IYENT Fh T SR S g & | SH YR B UEEH |
&= 1 i< : "MACHINES” |

In the following question, you'll find four other words provided alongside a given word. One of these
words cannot be formed using the letters of the given word. Can you identify that word ?
Given word : “MACHINES” :

(A) MESH (B) SEAM (C) NAMES (D)« CAMEL
"3 S0 FT BRI B gu A RS T, 39 de F, W el wehg a1 o e 22
(A) <A I FE =
(B) Tl | 9 T

AC) 319 S L UHS T
(D) HIF STTEAT H I T
In the context, “They were caug
(A) Actof kindness
(B) Found with red-hands = =
(C) Caught in the act of committing a crime
(D) Found injured fat

leil' w

Sl e
il IFlI| il
Hsswin{{on IFI.,,H'. :

-red-handed trying to steal”, what does “caught red-handed” imply ?

|Ig'

i

) |ﬂ1m|n||

ey
|| .!i_ > |[

< T Een § e &R Y8 [ 9T @

Find the missing letter cluster in the given series :

BYHN, CWKM,EUNL,_____ |LQTJ

(A) GRPK (B) HSQK_ (C) HRPQ (D) GSPK

ﬁm%ﬁaamﬁmﬂﬁ@ﬁaﬁéﬁtmaﬁaﬁaﬁm¢m%t
RK59#B2%*E?A8LE145V7IC6N@H13&D

& it sfmen § swen 98 FUifE s 540, *28, $4V, _
Examine the following sequence-glosely and respond to the questions that follow.
RK59#B2%*E?A8L$148V7IC6eN@H13&D

Determine the next term in the sﬂfgs 1 52, *78, 4V,

A) 16@ (B) Hig— (C) L8%, (D) He#

200 T} 3 T ¥ AT 136@@%%3?&%% 120 ST 1 frreehdich i ¥, 31k 80 BT
1 S T ¥ fra B &1 FE 85T U g qag €2 e el

Based on a survey of 200 StUdG.EﬂS.EMOq::udents like cold drinks, 120 st;ldents like milkshakes, and
80 students like both. How many students [ike at least one of the drinks

(A) ¢ 75 (B) 200 . (C) 140 (D) 180




101. Frafefm & 3 i & ST T R a3

Which of the following sequences is diffarent from the rest 7

a. 1; 4: 9, 16 b. 1’ 8’ 2?’ 64
Cr 2,6, 12,23 d. 1,16, gy bod

102. 3 39 g 7} ol e i WS ¥ it 27p ot aeirat spor o & T 398 i fory feram =Y S S s gy

(A) ¢ Tt (B) faor ) =m (D) o
If you start facing East and turn 270 degrees anticlockwise, what direction are you facing now 2
(A)  West (B) South “(C) North _ (D) East

103. = @ 1 R W% & wER =8t 2006 aﬂrgowa;mq@mm?#q#}ﬁ%wﬁia%ﬁﬁ
ot (1000 %t g §) <9k

The bar graph given below shows the sales of books (in 1000s)
company during two consecutive years 2006 and 2007. .

2006 <1 2007 H 0 THRI H F1 T Mt - A1, A2, A3, Ad, A S AG F T 1 B (v
Sales of Books (in thousand numbers) from Si-x-:B'r_';nches -Al1, A2, A3, A4, A5 and A6 of a publishing
Company in 2006 and 2007. L

from six branches of a pub[ishing

s 110

100
80 it
60 | BN

40 | &
20 |

A2 A9 TG A5 6 '
B 2006 g§2007 o

‘q’l?r‘faﬁfféa'ﬁqwmaﬂﬁﬁaﬁmaﬁﬁ%mmmﬁwﬁaﬁﬁmw%?

What ig the ratio of the total sales of branch A2-for both years to the total sales of branch A4 for both

(A) 89 (B) , 7:9 (C) 6:7 ' (D) 5:7

104. Hefed w5 @i
IECILE qEqS 1 qif ; 2 o :
(A) =g (B), T (C) stq 51 St
Find out the related word : : 2 ﬁa
Triangle : Polygon :: Square : 7
Quadrilateral i (C) Rect \

0 A1




105.

106.

107.

108.

109.

110.

ﬁ-]:i‘%'ﬁga 3 |: " 1 ‘ﬁ'{ S
Which of tieﬁrT?q Sl - ;mwazesen?ﬂ? 21 vl o T 9 o e %7
it Ollowing diagrams bé e felationship between Women, Mothers and

o - @ O -

3 53 'RECONCILE® % 43, 58, 78 310 89 3180 R 1w syefegs e sy ;

: , 59, ARE T AT 1 G AN e & 2
R 1 T T Fopery svefp s AT SR S
(A) TH (B) &7 ; (C) (D) =m
If a meaningful four letters word can be formed from thg 4th. 5t 7th a0d 81 letters of the
‘RECONCILE’. Using that letters how many meaningfy| words ’can be férmed ? 3
(A) One (B) Two (C)  Three (D) Four
T AR 10 HIX SR T 39 et €, (AL 20 HIE S i <y #, fir 20 e 2 401 =77 2, fo o
10 HI T SR <oAal ¥ | 9% 3 & 376 o {hail X wor roy1 32
(A) 45 == (B) — 28 HieX (C) 51 e (D) 25 =
A person moves 10 meters north, then 20 meters to the right, then 20 meters to the right once more,
then 10 meters to the right again. How far has he gone from the beginning ?
(A) 45 meters (B) 28 meters (C) 51 meters (D) 25 meters

Ifc A%B=A+B—1, 1 10% 2 F1 ¢ ?
If A%B=A+B—1,whatis 10%2? _
(A) 5 (B) 11 (C). 12 (D) 20

STGel H o« HEAd (A 3T B) T o 3Tk B— A &I A 1 il
Find the missing numbers (A and B) in the series-and find the value of B—A.

11, 22, 33, A, 55, 66, 77, B

(A) 44 (B) 55 (C) 88 (D), 33
YRUnEH 1 USSR et Frehut/ ek o1 = S T §9 9 urensi i qiem/ s S
gRuTE: | o1 3 % TR €, g g & o R
T e s e o
et - 1. o e B e Bl
2.  Hw g™ A

(A) Fae fremd 1 STTE I § (B) /S TRt SFTERU 6 ¥ \
(C) Faa frerd 2 T FH € (D) 2 e 1 TR € 2 TR A T |
Read the assumptions and select the best conclusions/ conclusion that follow/follows the assumptions

definitely.

Assumptions: | Ajay is the fat_ﬁ'er of Shreyas, Suraj is the brother of Shreyas.

Il. ~Seemais the mother of Shreyas.
Conclusions: 1. Seemais the wife of Ajay. .

2.  Seema is the mother of Suraj.
(A)  Only Conclusion 1 follows (B) Both the Conclusions follow

(C) Only Conclusion 2 follows (D)

Neither Conclusion 1 nor 2 follows




1.

1

118

14

115,

116.

e fere vy e Tt et 5wy gy g et £ 'Ifi.'f.f. q '”’F’" N W LI
Select the @puan i which the numbors glyare (he same relationship as that shared by thes given pair of
puimbers. e

12:20 i oy oY 0667
(A) 34 ;91 (B) 19:33 (6), 80 + 42 R ey

il v W v el _

e fafren s w0 v W@y P L |
A o ®) Wi ooy W (D). @
Find out the related word. 4, 4 L

Surgeon : Scalpel & Carpentar: 7 ENY ok
(A) Computer (B) Camera (©) Brush (D) Saw

e fAiia e W N, 'FLOWER' ‘fﬁ '‘RFOELW' & &1 W ”fﬁf‘é{ﬂjﬁ;{?_ﬂl S &, ar ANIMAL CAR R CALRTED
W - e :
In a certain code language, ‘FLOWER'is coded as ‘RFOELW', then 'ANIMAL’ will be written 46
(A)  LAIANM (B) LANIAM (C) LANJAM (D) LAJDNM

L t 5 i

e s T S ¥ v T e Q afaor i v @ e g & ) o e A i g & A o
iy W TR ¥ R 15 v e ¥ fi e we) ) froda fewn A 9o fert @ @i iy 7t
g ¥ five 8 e e ¥, o o o e § s w g & fow 8 et wweww § ) ferert & =
¥ sriwa few feen § {72

A W\, (B) ufem (cy =ftqor (D)” T

Lihaan walks 8 m towards South from his office to reach park. Then he takes left and walks 15 m !
reach traffic signal. Then he turns 90 degree anti-clockwise direction and walks 8 m to reach coffe

shop, he takes left and walks 8 m to reach home. Office is in which direction with respect to Lihaan
home ? :

(A) East () West (©) South (D) North

o fewn g 49 A, W e =t e feen ¥, 135 ferlt g s ® ) afs g wd o fewn § feran sm
ehyor-ufay faeg femn § €2 s |
(A) SW (B) SwR-ufem (C) SR-wd (D)

In a compass every direction is rotated to 135 degrees from the original direction. In which directic
will South-West be if the rotation took towards clockwise direction ?

(A) North (B) North-West ~(C) North-East (D) East

af A ai‘rgaa’m{{aumm%ﬁw, A T Tl i HE 20 §, B H el ) wem 18 ¥ sl A 3R B g
Tl FFSA 10 &, & n(A U B) T HIwC :

If A and B are two sets such that number of elements in Ais 20, number of elements in B is 18 ar

- number of elements in both A and B is 10, find n(A U B).

T

(BLA88 0 ) 88 AYIONdBag o (D) 18
48 Y6 U T W 14 ot § e §112 R 1 5 el g o e e ot S e

~ 48 men can do a'_wg;k;__m 14 days. Find the amount of work done by 5 men in 12 days.

(A) 1 B8% 7 e (B)18.6% (C) 9.8% (D) « 7.9%




18, TS E, N @y, s @D, B F D O IR gy gy z, AR W s S
foran S R, 396 wie ¥ 'ORGANISM' @Sﬂ{;{' Gleg?
In a certain code, N is written as J', '5'88 Wo 1 88 Q' 'Oy g ipr g k!, M a8 2, A as ‘M and ‘G’
as ‘S', then how will -oﬁéAi,'}é‘M‘ be writter,in that code 9 "e as 'M'and ‘G
(A) PQSMJKDZ (B) pQDZSMl(J Lo ._(C)( DZMSJPQK ©) POMKIZDS

119. fim W@
Find the dissimilar word. S L
R54, W68, U3, L36, Y75 | A
120. afc RED 91 UHG & mﬁqﬁmmma W BLUE ) fipq &9 1§ wifeq et Smom 2
If RED is coded as UHG, then BLUE will be coded as :
(A) FMUH (B) _EOXH (C) EOHU (D) EOHX

121. @1, 6,28,76, ¥ sy §EA 9 HifS¢|

Find the next number in the series 1, 6, 23, 76, ______

(A) 237 (B) 274 (C) 148 (D) , 198
122, §E SjEen § ¥ 90 R R

Find the odd one from the given series: &= =

4,16, 36, 64,100, 121, 196, 256

(C) 100 (D) 256

(A) 36 (B) 121 6l
123. i 9I=< TLBSBEAKLA & a&ﬁfﬁgﬂéh@ﬁ'mw@awwmm%ﬁﬁ@m#m%aﬁﬁ

If the name of a game is formed by rearrangigé_the letters of the word TLBSBEAKLA, then what will be
the sixth letter from the right end of the name of the game ?
(A) ~ E B) T . (C) B (D) S

124. I 53 + /243 = 24.249 &, A 192 +15./3 1 WK 1 &M ?

If 543 + /243 = 24.249 , then what will be the value of 192 +15y3 ?
(A) 39.84 (B) 3884  (C) 37.84 (D)~ 40.84

125, e =1 T4 H a1 o 55 Fhell | sy @i 62 forell &7 €1 57 fran wfids & wewa = € 9l
3R i 1 a9 50 TRal Qe afta 60 fRel § ¥ Suent wew w1 faER € i, See
a5 58 fehell § aifres ET & Wohal © 1 Af eft ayo orgam A WA T, @ il & fafw dwifaa sl
g FMY?
~InKarthik’s opinion, his weight is greater than 55 kg but less than 62 kg. His father does not agree with
. Karthik, and he thinks that Karthik’s weight is greater than 50 kg but less than 60 kg. His sister’s view
_ Isthat his weight cannot be greater than 58 kg. If all are correct in their estimation, whatis the average
- ofthe different possible weights of Karthik ? 7.
o (A) 58y (B) 57 s g (G) 60 (D) 59
126. %7 g & e ¢ 31 A @M I Fifg
- Find the number that comes in place of the question mark.
1:1:2:169

B): 15 == o (©) 13 (D) 18




127.

128.

129.

130.

131.

132.

133.

134.

(A

qa @& 1, 12, 144, ..., 20736 J1@

Find the missing number 1, 12, 144, 5500

(A) 1728 (B)~ 1278
6 =afREi UV, W, X, Y 3R Z A 3§, T g

. ’

1mﬁm%lx.wé‘m“ﬁﬁmuﬁm%aﬂtxﬂ

C
%ﬁ.&%gmsmﬁmﬁ@ﬁm%m,vﬁﬁm%@%

(D) 1287

1782
| B & 1T G e TAH AT EH R )

Among 6 persons U, V, W, X, Y and Z, it is knowri that: U is taller than at-least 3 persons. W is tallg,

than V, who is taller than exactly 1 person
than U. Who is 4!" tallest among them ?

(A) Vv (B)~U

TF IR U STEH), SHH! I, SHE TR AY afly

9§ fopem @ 92

family. How many were there at the party ?
(A) 18 (B) 20

(C)> 22 . “‘
M, N, O, P ik Q i first ¥ | 5 & o 3 wieré arermr-oTem €10, P iR N & <fall € SR o M

X is not shorter than W. Y is taller than U and X is shorte

c)y W (D) X

(@gﬁqﬁfﬁsﬁtm%ﬁ%qﬁaﬂﬁ?ﬁ?ﬁmﬁ

A party consisted of a man, his wife, his foyr s;:'in;;and their wives and three children in each sor’

(D) 23

QITATIFTAEHE AR N ABA RN TR Far v S?
M, N, O, P and Q are five friends. Each of them has a different height. O is taller than P and N an
shorter than M and Q only. Only one person is shorter than__N.-_'-'Who is t?g)shlcijrtest ¢

(A) P (B) M

(C)¢O

3 o T T S B G S o w1 o e S §2

What is the angle between the hour and minute-hands of a clock at 3 o’clock ?

(A) 90° (B) 30° (C): 50° (D), 75°
(A) ~ <1 JeTe | 9 i IR T_d © (B) <I-H THRI T S ¥
(D) RrT U % e frepr €

(C) <Fi e ¥ U S

How are rivers and streams similar ?

(A) Both flow downhill _
(C) Both are found in deserts (D)
G A H
941 : 91E :: F@EI :
(A) ITATYH (B) 3TeRTT
Complete the analogy : ~
Rain : Flood :: Drought :
(A) Abundance (B) Famine
feu e fom F Frysii (2rived ) &1 9@ 46 |
Find out the number of triangles in the figure.
1
3/4|5\6
718
T2\
14 16
15
32 (B) 39

Both contain saltwater
Both are static bodies of water

(C) TpH (D) U
(C) Storm (D) Harvest
) (C) 46 (D) 60



135. SR & e T T Freferfia 4 4 HA- D S o

Which of the following figures will come in the Missing piace in the below figure ?

YOl 7 |&
(A) A (B) @ (C) @ £y V

136. M@ it &, STFfT (X) W fag 10 gFel @ PA-H1 3 e <71 ehell 22

Find out which of the figures can be formed from the pieces given in figure (X) ?

(X)

0 -5 -C

137. Rerl 3it o afed 1280 SRR 1T Te Uh TG § 9IS @ ¥ 196 T&w 15 96§ O

foreren €, < W & fee foee €2
A group of 1280 individuals, consisting of teachers and students, is attending a conference. For every
15 students, there is one teacher. pr many teachers are in the group ?

(A) 70 (B) 75 (C) 80 (D)7 85
38. fawm =1 :
Find the odd one out. '
o | N (B) J/\ 1. (©) V (D)
39, A A+ By aidi B A, B TE E; Ax B el & fr A, B ORI ¥ STA - BT o ¥ A, BT

% Frfefiga 8 @ FH-91 G99 TR R i | sl § 7
If A +B means A is the brother of B; A x B means A s the father of B and A—B means Ais the sister of
B, which of the following relations shows that | is the niece o' &

(A) K+Y+Z-I (B) K+YxI-Z (C) 7-1xY+K (D) KxY+I|-Z




_ ety @i AR Sl g  wiifer
s Wi mm%mﬁ-ﬁmﬁqm

141.

142.

143.

144.

145.

(A) ettt S BRI T W e ety @ A
e e T | Ak |

(B) ot S B 9RO Wﬁﬁ(*mwﬂqﬁﬁ@?{ CEGE

(C) ﬁ"wﬁma‘mmmﬁﬁ@mﬁﬂwwaﬁaﬁﬂ%l

(D), S et et Ea g W W A Wﬁwﬁ—q

A renewable and non-renewable energy sourc & are different because r

(A) Renewable energy sources can be replenished naturally over time, while non-renewable energ
sources cannot. e

(B) Renewable energy sources are finite, while non-renewable energy sources are infinite.

(C) Non-renewable energy sources are more environmentaliy friendly than renewable energ

sources.
(D) Non-renewable energy sources are derived from the Sun, while renewable energy sources a

derived from the Earth.
faFeg A, B, C 3R D # & o (X) maﬁm_gﬁrﬁagﬁm :

Choose the correct water-image of figure (X) from-alternatives A, B, C and D.

X N
@
(X)
) e . ©
& X ) X B
YR (B) vud et (C) STfA (D) =faor SR
Choose the option which is different from the rest.
(A) Europe (B) NorthAmerica (C) Argentina (D) South America
HH-T1 I3 T8 | el § 2 |
(A) 238 (B) < TSR (C) <hem (D) =
Which word does not belong in the group ?
(A) Cherry (B) Carrot (C)- Banana (D) Apple
SHIG-HR 1 SEHR F1 §, Tl T B HI STH KA T & FHMIR Teh ©F SR HIRT S & 2
e t?ﬂfﬁ' (B) Tfer (C) Fewm (D)./ wrewen
at is the shape of the cross-section, when & cone is cut by a '
' plane parallel t ‘
(A) Parabola (B) Ellipse () Circle ?D) Zygétrsb;'zm e
et sjaen # Tom den A F )

Identify the incorrect number in the following sene*
12,10,6,1, —8, —18 ”
(A 1 B) 1 (C) 10

giky iy (D) ~18




146. ST = a= =1
Find the nexione.

@ b ®) v 0 (D)

(D)
-

[}

= =
= = s
—m = — e —TrT
i T ilw—ii Gl =il =Slles |
. - =
e IR oH — = > = o €1
Sl SRS el o MY = 9SS e
- = i g .
R s Gl JATl 2 = e =i T
e S
Gruel
- — - - - —
e o T T =iy 7
- - 10 S, 1990 1 ST R ==
Tl TR 0SNG, ISV I===TF== 55 =
LTm = Saal
=
o S
{Ad ===
= = . T
§ Cr—iie2,. Tl 3
¢ F =
- —
(C} ===

snsider the conditions for selecting faculty members in 2 computer education centre :
z Fgebefﬂ%ﬁﬁwzak'e&fs&'iﬂfﬁmembeﬂ,m.
i < lork experience Of Prograimimng expernicnce.
E | Pt Gagres in computes aopication with 2t leas! 60% marks.
6 Minimum of 25 marks in the intenview oud of 50. .
- %ﬁﬁmwmmrmg@,epamwwwmrefe_nedmmsenﬂ!mm,_
£ Fthe candidzie does not SCOTe minimurn marks in the intenview, the case is to be refemred 0
principa! of the institute. e
o w@:a‘g mﬁmm 21 other qualifications excep! the 2ge Emi, the case is to be referred 10
;-:-_.,uEf‘éEC&’me* .- F
Vinics ﬁjﬁ ,d: <o shou'd be taken for Manish Kumar based on the foliowing information?
Menish Kumar - 14.Sc. in Competer Science vah 629> marks. Date of birth - July 10, 1990. 4 years of
experience as 2 computer teacher. Obtained 40% masks in the inteniew.
{A} Cazee is io be refernred 10 Ihe Girector of the cenlfé
(B} Cendidete is to be selected a3 a junior faculty member
{C} Carvlidzte is not 10 De selected

8YZ-24 21

o Z=-= 1
=

SCIGICE




149. TF B ¥, yeies Raeel 100 31T A I ey | iy 2 A, T Fawet wmm@m%ngm
% o, ferg 3 130 37 €, I F 90 37 ¥, wyreff & 120 7% € S e & 110 i ¥ 1 A Sfoe A ey
3 TS H 30 i W< R, i 2 TWe § 3gq fipqy o @ ?

In a game, each player starts with 100 points. |n each round, a player can gain or lose points. After
oints, Charlie has 120 points, and David has 110 points.

5 rounds, Alice has 130 points, Bob has 90 poin
If David gained 30 points in the first 3 rounds; how many points did he lose in the last 2 rounds ?

(A) 10 (B) 40 LY40c) 20 (D) 30
_—_— r e K
150. TF TRl WIeH o H, 25 B 7 0 S ey gtz & 9T S T e o | AfE TR S ig
e TR €, 3 i | el & S B, 0 fersian ohr e 0 o ToIQ Sreeares B 1 < S

In a school sports club, 25 students decided to participate in a table tennis singles tournament. Each
time a student loses a match, they are eliminated from the tournament. What is the minimum number

of matches required to determine the winner ?
(A) 24 (B) 25 (C) 26 (D) 27

—

-000-



